= fp 2 A

p={10s

H &)

E

I/‘

=3
-

~

FLERFA H

T g

6 9n

472250029950

1. FEAREHR

100 ©» 46

6 3

BEEES

FR1AH—-107479

FEERERE A

BREFEAR/RAEAR
= - SF Tx 6a 9

gl

it

2&;2 12}] ?

'ﬁﬂ%%@ﬁTTéE

50

Fn

T

105 1m

2. FTEE - EREER

A& O K4 X34 FH
Bt AV 7 ZAA—F

BTHE o ERR
A B AT R FE IR 2 5 6

[31281]

ERE DKL XITEF
X >k sk

R F o X
* %k sk

5 oA 0L E

3. EmEAE R

i H Bf

[262]

i
iﬁZDG—FRlAHG

JFEE DR

AO09C

BB |,

& "%

BZxH

- HEMH DR

H % A

=

REORR |z [022]

REEAR

2.5

T AR

12500 ke

HiEE

12340k 24950k

1149 cn

S

249cn

339¢cn

T AT be & '

AiT A1 il & 5370 ue Ri 7% i B

ke

BBrwWME

MHER BT ERH LN

kW

8.86

PR DFESR

%

FRIRD %S

4 . 5%

(8] , Biaziez,
[3 1ERERMHI] FM241 2

B

Eﬂiiﬁﬁiﬁﬂ (NOx * PM)
P MR g T

:EE#H%'J%E&H

(EfTiHEEfETRT~ME] 325,

[IBEITEH R E] 27

)
$&28¢5iﬁﬂ$ ERE
EHEESEEEE 86 dB
(E%ﬁﬁﬁ%@m@ﬁ%
0
2

%“ﬁ%—&“ﬁ

v 7 7 —EEEE
[EofiupE®EE] [1
(920) Mty

V=

TH FREE 50 %MBIHE]
C OEBEOERAOAIMINO |

[HEFTIE]
SEARIIEIL Y A T ARG SO E 20 E

HiiiID

T9468KA4900255

L
i E&ﬂ%



